Calculs variés

Effectue en colonne les calculs suivants
78,561 + 158 ,9 =

569, 36 + 56, 124 + 7 000, 8 =

568, 201 + 1 258

891 - 56,23
762,4 - 45, 26
632, 001- 56,344

235,5 x 28
186, 27 x 9
6,892 x 34

Calcul au dixieme prés
568 : 9

8 651 : 26

6325:14

Calcule au centieme pres
568,58 :7

697,61 : 50

901,8: 15




CORRECTION CM2

Calculs variés

Effectue en colonne les calculs suivants
78,561 + 158 , 9 = 237,461

569, 36 + 56, 124 + 7 000, 8 = 7 626,284
568, 201 + 1 258 = 1826,201

891 - 56,23 = 834,77
762,4-45,26=717,14
632, 001- 56,344 = 575,657

235,5x 28 =6 594,0
186,27x9=1676, 43
6,892 x 34= 234,328

Calcul au dixieme prés
568 :9=63,1

8 651 :26 =332,7
6325:14=451,7

Calcule au centieme pres
568,58 :7 = 81,22

697,61 : 50 = 13,95
901,8:15=60,12




